10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

r dr
x4+ 1)( )(m+3)
1de

24+ x—2

/
/ .
/xgi”;f”
s
/

ztdx
Ty5a2 14

x
2
d.

(m2—3x+2> w

(z+ 1) )(:17—|—3)3;
dx

5+ 2t —

x2 —|—5x—|—4

m4+5x2+4
xdx

(x—1)2 x2+29:+2)

— S S~

z(14+x)( 1+x+x2)

dr
1+ a3’
rdr
3 -1’
dr
-1’
dx
4 +1

?

dx

—2x2+x—|—1

1+ 2)(1+22)(1+a3)

dx

$4+2m3+3m2+2x+1;

/ dx _
2t 4223 + 322 4+22+1°

36.

37.

38.

39.

40.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

dx
21. —_
/ x2(z2 + 1)’

xdr
22. /—(:c — 1)2(x T 1)23

dx
23. _—
’ / (22 +1)%
dx
24. _—
/(.%'44-1)27
dzx
25. /7(x3+1)27

/ 22dx .
(22 4 22 + 2)2’

/ 22 4+ 3z — 2 "
(x—D)(22+2+1)2

dr

ees
/x”ldm.
(zt 4+ 224+ 1)277

/ dz _
(x3+x+1)3’

)

/ | d
x
4 ad+a2+a+1

1—a7
d .
/ o)
2n—1
/x dx;
zn+1
x?)nfl
d .
/(1‘27L+1)2 5
/ dx )
z(z10 4 2)’

xlo —10)2

e +1
/x4+x3+1
2—1—3:
/1+9c

I / dz
" (az? + bx + )™’

/1—|—x2”



41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

o1.

52.

53.

o4.

95.

56.

57.

58.

59.

60.

1—z+2?

Vite—2
/ dx )
(1+2)V1+z+a22

dx;

xdz
/ (x —1)2v/1+ 22 — 22’

/ xdx )
(22 = 1)Va? -z — 1’
/ 2+z+1
———dx;
(z+1)

\/ﬁ_\/ﬁ
e S

xdx

Va2
/\/x—anﬂx—b) ;

a > 0;

/1+\/E+m;

/(r+@j?iz_x?

/(L+@j?ﬁéx—x?

dx
/(562—1—95—&—1)\/372—1—1'—17

/ 22dx )
(4 — 2z + 22)V2 4 20 — 22’

( )dx _
/(xQ—i-x—l—l)\/x?—i-m—l—l’

dx
/(x2—x+1)\/x2—|—x+1;
dx )
/x+\/x2+x+1’

dx '
/1+m’

76.

e

78.

79.

80.

61. /x\/xQ — 2z + 2dzx;

/xf\/:z:2+3x+2

62.
T+ Va2 4+3r+2

dx;

dx
0 / (14 21+ 2))?

64.

/ dzr )
V2 F1—-vVz2 -1’

dx
65. ;
Ve2+Vi—z+Vitz
1
66. M T
VI +Vr+1

67 / r+vVai+r+1
' l+z+vVa?2+z+1

68 / (22 —1)dx
. (22 +1)Vzt +1'
69, (2% + 1)dx _
eVt + 2+ 1
0 / xdx .
' (1 —a3)V/1— 22’

sinx — cosx
71.
sinx + sinz + 2cosz

sinx

72. / —dx;
sinx — 3cosx

73, asinz + bcosx
csinz + dcosz

. /s?nac—i—Qcosac—Z’)alac
sinx —2cosx + 3

sinx
75. dx
\/5 +sinx + cosx

2sinx + cosx

351nx+4cow:—2

sin? x — 4sinz cos z + 3 cos? xd
T
sinx + cosx

sinx + 2cosx
sinx + cosx

2sin?z — 4sinx cosx + 5 cos? x
sinx — 2cosx

/ sin? z — sinx cosx + 2cos? x
dx

1+4s1nzcosx



86.

87.

88.

89.

90.

81.

82.

83.

84.

85.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

H

H,

H,

/ vao+1+2 -
(x+12—Vo+1

/ m—fw

dr
V1+ta®
dx .
1+ 25

™
m
m € Z;

Z.m
S R —
" / Va2 +1

d
In+1=/(73j n ez

.%'2 + a2)n+1 ?

dx
In+1:/m7 n ez

B —x+1

—du;
Va2 +2x+2

/ dx _
(x—1)3vVa2 =2z —1’

/ dx .
(222 — x +2)7/2’
2
/ Ccos“ x da:
1+ cos?zx

1
/ 1 dx;
sin® x + cost x

/ 1+ tg2x

TRy

(4 + tg*z)tg’x

/ 2sinx + cosx
(2cosz — 3sinx)?

/ cos(2r)

sin* z + cost
/ cos?(2x) di:

sin*z +costz

1+ 3sin®z + 2sinzcosx
/ sinz — 2cosx

dx;

dx;



